#3-3 HAEIE(FETEE 2015FE)

XE AGER = THhEE tHEE Rl RiAE EANE EFNE L L

No. FREH 22 8% PRZE BB ) ok (m) /NGB KRR NGER) K(BA) AFE/R)  A(E/A)

1 IHENE R RRAT EKf ZH ZIEZRHmekAT 3 21971  219.71 * * 400 400 25,000 25,000

2 THeNA U RIBIE S EK#t ZEH ZREWESTHREER 7 18378  246.77 350 x 350 *

3 IHtNA VRS EK#t Z51 NATHEIERT 2 17399  173.99 250 x 250 * 20,000 20,000

4 N=RIMK —T VR SQ#t N RyTtHETHE 2 170.5 170.5 120 * 120 = 150 * 150 * 22,000 22,000

5 B HHFHETLF TO# ZH RWHHHETLF 3 20414 21698 100 100 140 140 27,000 27,000

6 Y-y =)hF R FEEER SN#t B8 KEETHARFLEHE 2 91.51 97.55 100 100 50 % 50 * 20,000 20,000

79-uynN=)—E#LU T SN#t ZH —Em#l 1 148.79 148.79 120 120 20% 20 * 23500 23,500

8 § -y —)EEFEX T IR AT SN#t ZH BHETHERXTIRET 1 81.26 81.26 20% 20 *

9 —EETL SN# ZH ZBME—EHMETL 2 14433 15571 100 100 * *

10 7=y =h it X Frdm AT LK#t 25 ‘BHEHWPNRITEHFE 1 130.9 130.9 * * 24,000 24,000
11 FIAHT TU %t #E ERWItEE4EE 1 20126  201.26 * * 19,000 19,000
12 NJ-#)AT-V—BET SN#t ZBH —EmEL 1 199.55  199.55 100 100 * * 20,500 20,500
13 7=y =H=p LXK /MF I SN# ZH KEETRSFILR/NMEF 1 99.96 99.96 * x 21,200 21,200
14 J)-yN ) FT X FREE Hb CE# #ZFJI| HERERTHREXEAIER 1 26048 26048 390 390

15 Rt FHET EF TO# ZH HRWHHHETLF 1 21698  216.98 100 100 26,000 26,000
16 ENZ T RN ET LKt =% HMSTHHMEHE 1 197.51 197.51 209 209 20,900 20,900
17 SN2 RN ET LKt =50 HMSTHHMEHE 1 20251 202.51 180 180 23,000 23,000
18 EEGR TH # #FE JIIBHTHREREREESRE 1 190.15  190.15 300 300

19 RFINRF/INE 7 LK$t =50 [ALETRFINRF/NE T 1 179.07  179.07 160 160 17,900 17,900
20 ZEFHHET TR#t HEE /PMEHRZEETEE 2 10872 10875 250 * 250 %
21 FHTFEHET LK%t Z%0 FHEHFEHET 1 184.97 184.97 145 145 18,000 18,000
22 FHTHAIIRET LK#t =25 FHEHMXEIRET 1 196.43  196.43 180 180 20,000 20,000
23 PR LEETONR/INE 47 B LK #t =50 BALCETONR/NE 7 BiR 1 149.7 149.7 140 140 16,000 16,000
24 ' -TUT7AR B ESouth TH# KR EEHmRRILL 1 15155 15155 200 200 23,000 23,000
25 KRZFEHT TS# HE HERXRKRZFEHE 2 98.93 98.95 250 250 33,000 33,000
26 1%/ \IEFTET LKt =0 0% /\WEHET 1 13762  137.62 130 130 15,000 15,000
27 MZHmBRFINH LK =% MZHHERFINH 1 142.2 1422 120 120 12,500 12,500
28 MEHAEFTM LK 25 MEBHAREFTEM 1 172.6 172.6 170 170 18,900 18,900
29 F AT FEihET LK%t Z%0 FHEHFEHET 1 186.22  186.22 135 135 15,950 15,950
30 FFEHERIERER SX#t #M HFHETERILELE 1 18346 18346 350 350 38,000 38,000
3 EMTMARESR S SX$t EH ENTAREHS 2 174 174 150 150 15,840 15,840
32 FHHRILET LK#t =% FHEHMRWLUE 1 177 177 110 110 13,000 13,000
33 AT ZJIIALLET LK#t =% FHEHTZ)IRALET 1 29426 29426 190 190 25,000 25,000
34 LEHT TT # BE FEREE/\EFi LEHE 1 96.64 96.64 250 250 23,300 23,300
35 EMT X =4AHET SX#t ZBA ERTHRR=FAETFIEEETER 1 32783  327.83 200 200 25,000 25,000
36 EEHAH)I LKt =25 =HiEmAHI 1 146.71 146.71 145 145 19,100 19,100
37 AT 2 LKt 2% AT 1 15576 15576 144 144 16,400 16,400
38 &%/ \WEFTHET SN#t =28 HMBHH/\IBHET 1 164.08  164.08 130 * 130 * 17,000 17,000
39 M /\IEBFHE LK#t 2% MEH/\BENE 1 164.13  164.13 140 140 15,600 15,600
40 FHETEEE LK#t =% HFHEHMEEE 1 15717  157.17 135 135 16,100 16,100
41 FHETHRILET LK#t =% FHEHMRWLUE 1 181.11 181.11 110 100 13,000 13,000
42 EATRIBEAR LY #t ¥ MRAamRHBEAR 2 30215  396.52 160 160 12,000 14,000
43 REBTFRE/FH LK#t 2% HEEFE/FH 1 56.04 56.04 110 110 12,900 12,900
44 TE T S LT LK #t =50 Rt L 1 16055 16055 200 200 23,000 23,000
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45 gomm AR LK =& mamAAI 1 131131 131.131 130 130 17,000 17,000
46 FMIZEHAREFTHEHE LK 25 MEBHARKEFTEM 1 17258 17258 170 170 18,900 18,900
47 BAHH R SNt #FE ZRThPRRFHE 1 78.73 78.73 100 100 9,000 9,000
48 FHTEERE LK#t =% FHEHMEBERE 1 213.31 213.31 150 150 19,000 19,000
49 ATz LKt 2% FAEAHZ) 2 15357 15379 141 141 16,200 16,200
50 74LAM ) KIER TW#t 18 ERETERHLE 24 17234  201.11 20,400 24,600
51 {5 LK#t 2% FHEHmESH 1 142.7 142.7 125 125 14,800 14,800
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